Sr

Questions

which is not a part of computer system?

Which is not a part of CPU?

Key used to cancel an operation is

Decimal value of 27! is equal to

The cell of memory are logically organized into group of:

Answers Choice

Ram
ROm
c
czX
czX

Ram

Rom

. Motherboard
. Mouse

DOWP Moo

A. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Caps lock</span>

B. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Arrow</span>

C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Esc</span>

D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Num lock</span>

A.05
B. 0.25
C.1
D.0.75

A. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">8 bits</span>

B. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">24 bits</span>

C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">16 bits</span>

D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">12 bits</span>



